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Gartley Pattern Tutorial



Bullish Gartley Reversal Pattern

BuLLISH GARTLEY REVERSAL

begin the two step process to try and find a target
for swing low D to reverse from. | longorshort.com
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l ‘ The first thing to find is -
} an impulsive move up i
H from a swing low. Gaps L
ll on the WAy up are great L
| zigns of impulse. I
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1. The first step is to BuLLiIsSH GARTLEY REVERSAL |
identify a fairly one way — 70
move [Xto A]. Followed [
by an initial reaction A -
[Ato B]. The next -
leg iz where the -85
math begins [ L
[E to C]. .618 retracement | [
1 ofleg Ato B - B0
L]
The B to C leg is the importantleg to check the -— a0
l math on. It should retrace the A to B leg to one of ||
the key fibonacci levels [.382 .300 .6183 .736]. |[
In this case it retraced to within a hair of the .613||
retracementlevel. — 45
At this point on the chart the assumption is that ||
point C is the swing high and that prices will L
eventually trade below swing low B. We can now || -




1. Calculate the length of BuLLisH GARTLEY REVERSAL
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the AtoBleg [AminusB]. | |2, FindthelengthoflegBtoC. |  '0
MNow subtract that number| | Take that length and multiply it -
from the top of the puint® by the two key fibonacci I
C swing high. This extension numbers to find the [ E5
process can be H range for a possible low to occur. |
seen visually by l ‘ l l @ L
looking at the ] ” i - o L
redlines. As ' { l | _
you can =see this ’ 1 -
step targets a | ‘ # ‘ r
reversal low H [
around 50. . . — a5
— ’ l I g | o0 |
||| ! B
l “ D S— g [ 40
} ‘ The chart shows the C to B leg as 1.000. The next |
' { step iz to subtract from swing high point C the two
l‘l extension numbers. Take the 1.272 and 1.618of Cto] 45
l E and subtract those numbers from the C swing L
high. What you getisa targetrange for a swing low
to print between 31.89 and 49.36. Two seperate B 40
@ measuring techniques predicta lowina 2172 point]
range. Also AB=CDin the range. longorshort.com|
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1. Here's the final step to BuLLiIsSH GARTLEY REVERSAL |
confirm a point D reversal — 70
buy point. Point D should [
printata key fibonacci -
retracement level of r
the X to A leg. H -85
After doing some L
quick math the ] ’ C r
closest level is [
found at the H ' Hl L iy
618 retracement r
of {to A. That ’ [
number is l - 55
at49.72 H H -
rightat I [
the ab= cd.. ] L
— &0
l .618 retracement D i
} ofleg X to A -
' {l The chart shows that AB=CD at 50.01. The .613 B
retrace of X to Ai=zat49.72 and the CD "range" L o
l calculations target a reversal between 51.89 and -
40,36, The preference is to favor the lower end of [
the "range" becanse AB=CD at the lowend and L 40
X the chart is harmonic at the .618 -
retrace of X to A | longorshort.com|




1. The trader tries to buy as
cloze to the reversal "range"
as possible. The first
trading targetis a .613
retracement of the A

C to D leg+[56.82].

BULLISH GARTLEY REVERSAL

‘ m Stop losz placement iz up to the trader. The next
l level of support below D in thiz example would be
| around 45.30 where the .7536 retrace of X to A resides.
Othersz prefer a stop at aboutwhere X originated
[40.25]. Stops MUST be used with this pattern
% becanse 30% of the time it fails and extends below X
h]l' 1.272 or 1.618 of the X to A move. | lungurshurt‘cum
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Bearish Gartley Reversal Pattern

BEARISH GARTLEY REVERSAL PATTERN + 338.0
(The bearish gartley reversal pattern begins with a e 334.0
fairly straight one way move off of a swing high [in T
many cases it is from an all-time high]. .
Thiz drop is the X to A leg. + 326.0
J This pattern is initially fortned by finding what you| 322.0
T see in thechart [an X o Adeclineandan A to B :
retracement]. + 318.0
The trader now waits for another swing low to print | | 5440
|before we start the point "D" projection calculations. ) )
+ 310.0
+ 306.0
+ 302.0
h’[ + 298.0
+ 2040
+ 200.0
= 286.0
+ 2820
« 278.0
+ 2740
(©) longorshort.com 2001 * 270.0
BEARISH GARTLEY FEEVERSAL PATTERN + 338.0
‘The next key to the pattern is to check the fibonacci » 334.0
1 ratio of the B to Cleg. It must be within a sniff of one |, 330.0
of the kev retracement ratios of the A to B leg. Huh? )
1 Lets take it step by step. First measure what price |+ 326.0
distance the A to B leg was in points and write that |, 309
T u!
number down. Mow do the same for the B to C leg.
Divide the B to C leg number by the & to B number, [* 318.0
l [[length .':'f BtoClegy / (length of & to B legd] =ratio |s 344.0
\That ratio should be about: .382 .500.5615 or .786 |
+ 310.0
-|' + 306.0
l ' + 302.0
+ 298.0
+ 2040
I 1 £~T0% retracement of A to B leg Je 200.0
J + 286.0
e can now begin tocalculate the most | 282.0
likely area that the point "D" reversal will )
occur. Thiz iz WOT a forecasting method  + 278.0
predicting that prices WILL go to point "D 524

it predicts where it should reverse.

ic1longorshort.com 2001 .
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BEARISH GARTLEY REVEESAL PATTERN + 338.0
The following process is the kev o the pattern. 1zt calculate

the price length of the A to B leg [B-A] and add that number® 334.0

to the swing low of C to project where AB=CD. I drew equal « 330.0

'[ triangles on the chart to help wisualize this process. MNext . 3260
calculate the length of the B to Cleg [B-C] and then take "

T that nurnber and multiply it by 1.272 and 1.618; add + 3220

those numbers seperately to the swing low C to get a range. |

J18.0
Just to the left on the
chart vou can see the® 314.0
1.272 twomethodsare  + 310.0
predicting a reversal , qpen
] point "D" could occur )

from as low as ~300 * 302.0
toazhigh az ~316. , 2980
1 The ideal thing to
i } happen is to have the* 294.0
- triange fall right in  « 20p.0
the projected "range".
The triangles simply help you visnalize
where point D should print if the A taB* 282.0
legizequal to the Cto D legin length. « 27g.0
Traders now have a defined range to

286.0

expect prices to reverse from [309-316]* 274.0
(©) longorshort.com 2001 * 270.0
BEARISH GARTLEY REVERESAL PATTERN + 338.0

There is one last ingredient to the gartley reversal patterng 444
that is crucial to it's success. Point "D or it should be zaid )
leg & to D should retrace to within a sniff of either .618 or ¢ 330.0
786 of the X to & leg. Asyoucansee the .618retracenf | 305
the X to A leg also falls within the projected "range" for a

reversal to occur. This is the final factor that must exist, ¢ 322.0

+ 318.0

AF =CD around 314
Reversal £ ECx1.618+C = 313.7+ 314.0
Range n BCx1.272+C = 300+ 310.0
+ 3J06.0
Mowr that prices hawve rizen 302.0

h into the projected "range" the
-I—L ﬂ trader looks to sell longs theyt 298.0
W

own or initiates shorts, The § 294
} pattern reverses from this
setup ~70% of the time. 290.0
The initial downside trading + 286.0
target is a .618 retrace of C-D
| which is around 299.

Protective stops will need to be placed for T 278.0
the 30% of the time this pattern will fail.» 274.0

i longorshort.com 2001 + 270.0

282.0




BEARISH GARTLEY REVERESAL PATTERN

(& successful bearish gartley. The first trading target

was reached at 299, the 6158 retracement of the Cto D

leg. The second target is at the .618 retracement of the
& to D leg [the dot at 291]. The safest and most

d

consistently met target is the .618 retracement level of
the C to D leg. One technique is to exit partially at the

1st target then tighten stops on the remaining

l L position and hold out for, [D] trading target twao.

-

+*

*

+*

*

338.0
334.0
330.0
326.0
322.0
318.0
314.0
310.0
306.0
302.0

« 298.0

+*

294.0
290.0

The power of the gartley reversal pattern lies in it's

ability to give a high probability reversal price

range prior to price reaching it. About 30% will fail

A |and some will extend 1.272 to 1,615 times of the X
to & leg. The extension numbers in this example

©longorshort.com 2001 3re 353-373 50 using a stop loss is a MUST!



Bullish Butterfly Reversal Pattern

A BuLLISH BUTTERFLY BOTTOM

(AT THIS POINT ON THE CHART WHAT WE HAVE IS A |
MOVE OFF OF A BOTTOM [X TO Al FOLLOWED BY A
DEEP RETRACEMENT LEG [A TO Bl WHICH
RETRACED TO THE . 786 FIBONACCI LEVEL. THE B
TO C LEG WAS SHALLOW AND WITH THE LAST BAR
ON THE CHART IN A FREE FALL THE TRADER CAN
NOW ATTEMPT TO MAKE A CASE FOR WHERE THIS

|NEXT LEG DOWN MIGHT END FOR A REVERSAL. )
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.y BuLLISH BUTTERFLY BOTTCM

TO TRY

!l '“

B

THE FIRST MEASURING STEP

AND FIND OUT WHERE

” l THE C To D LEG WILL
~ | l REVERSE FROM IS EASY.
’ SIMPLY SUBTRACT THE
LEMNGTH OF THE ATO B LEG

’ FROM THE C SWING HIGH.

AS IN ALL BUTTERFLY
PATTERNS THE
TRADER IS LOOKING
FORTHE ATO B LEG
TO BE EQUAL TO THE
CToDLEG. THIS
METHODO SHOWS
AB=CD apovE 40.
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.y BuLLISH BUTTERFLY BOTTCM

WE ALREADY HAVE THE
AB=CD TARGET NUMBER
ARCOUND 40, NOW WHAT WE
WANT TO FIND OUT IS
WHETHER THAT TARGET IS AT
A HARMONIC NUMBER. MosT
SUCCESSFUL BUTTERFLY

REVERSALS OCCUR AT
(C EITHER THE 1.272 oR
1.618 EXTENSIONS OF
THE X TO A LEG.

FIND THE LENGTH OF
XToA[72.38-48 .44
=2394]. THEN
MULTIPLY BY THE 15T
HARMONIC NHUMBER [
23.894 x 1272 =
30.45]. Mow
SUBTRACT FROM THE
POINT A SWING HIGH
[72.38-30.45 =
41.93]. So THE
1.272 EXTENSION
OF X TCO A TARGETS

H‘ THE MATH IS EASY.

S50 THE AB=CD TARGET IS5 UNDER 42.
ABOUT A POINT AWAY FROM THE
1.272 EXTENSION OF X TO A lungurshurt‘cum
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PRICES DECLIMNE INTO THE

BUY ZOME AND IN THE

PROCESS FORMS A BULLISH
BUTTERFLY BOTTOM. THE
CHART IS HARMOMIC AT THE
1.272 EXTENSION OF X TO
A anD AB=CD.

FOR TRADERS WHO
GET LONG FROM
THE BUY ZOMNE THE
FIRST TRADING
TARGET TO TAKE
FPROFITS AT IS THE
618 RETRACEMENT
oF THE C 10 D LEG.

= (15 retrace
of Cto D

C

7] @ayZons)
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ATo B= 786 0FXT10A ||

AB=CD

— 70

AToD=1.2720FXTO A i
H;‘_ 65
W T e
rﬂ}l m - 55
ﬁ — 50
i L

BuLLisH BUTTERFLY BOTTCM

— 40
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